


Housing : For BSV Model N-BSalt & Model EVOBasic

POOLSPA CODES PART NO. DESCRIPTIONS RETAIL PRICE 2023

20900210145 RP/1 Housing for RPxx/2 cells (blue cap) Housing Cell                         5,000.00

20900210150 RP/3 Housing for RPxx/3 cells (Organge cap) Cell Housing BSPOOL 2014                         3,900.00

CELL : For BSV Model N-Bsalt

POOLSPA CODES PART NO. DESCRIPTIONS RETAIL PRICE 2023

20900210155 CELL-RP10/3-5-V CELL 10 gr/h N-BSSALT 20,900.00                      

20900210160 CELL-RP15/3-5-V CELL 15 gr/h N-BSSALT 25,900.00                      

20900210165 CELL-RP20/3-5-V CELL 20 gr/h N-BSSALT 27,800.00                      

20900210170 CELL-RP25/3-5-V CELL 25 gr/h N-BSSALT 28,900.00                      

20900210175 CELL-RP35/3-5-V CELL 35 gr/h N-BSSALT 34,900.00                      

CELL : For BSV Model EVOBasic

POOLSPA CODES PART NO. DESCRIPTIONS RETAIL PRICE 2023

21040210005 CELL-RP10/3 CELL 10 gr/h                       21,900.00

21040210010 CELL-RP15/3 CELL 15 gr/h                       28,900.00

21040210015 CELL-RP20/3 CELL 20 gr/h                       32,900.00

21040210020 CELL-RP25/3 CELL 25 gr/h                       33,900.00

21040210025 CELL-RP35/3 CELL 35 gr/h                       42,900.00

CELL : Include Titanium Plates / Pastic Rails / Lid / Cell Cable

POOLSPA CODES PART NO. DESCRIPTIONS RETAIL PRICE 2023

21040210030 CELL-RP50/3 CELL 50 gr/h                       69,000.00

21040210035 CELL-RP70/3 CELL 70 gr/h                       89,000.00

21040210040 RP100BSV CELL 100 GR/H                     159,000.00

21040210045 RP150 CELL 150 GR/H                     199,000.00

21040210050 RP200-CIS CELL 200 GR/H                     342,000.00

21040210055 RP250-CIS CELL 250 GR/H                     564,000.00

Parts of Cells

"BSV" SALT CHLORINATOR REPLACEMENT PARTS



"BSV" SALT CHLORINATOR REPLACEMENT PARTS

Parts of Model N-BSalt

PART NO. POOLSPA CODES REFERENCES DESCRIPTIONS RETAIL PRICE 2023

1 20900210180 EVO2-EM-V Fram                                    -   

2 20900210185 TECLADO-BSSALT-D Keyboard                                    -   

3 20900210190 CL81Z Cover screws                                    -   

4 20900210195 EVo 2-TAPA-N Cover                                    -   

5 20900210200 P909-7 Control board                       10,500.00

6 20900210205 P927-4 Power board                       23,000.00

6a 20900210210 P950-3 Power board                       26,000.00

6b 20900210215 P953-2 Power board                       30,000.00

7 20900210220 M25JSL-N Compression gland                            250.00

7a 20900210225 M20JSL-N Compression gland                                    -   

8 20900210230 JUNTA 01 Waterproof seal                            250.00

9 20900210235 R13112AAA Switch                            250.00

9a 20900210240 F0188LOAAA Switch protector                                    -   

10 20900210245 EVo-BASE-N Evo base box                                    -   

11 20900210250 BISAGRA-GOMA Hinge strap                                    -   

12 20900210255 KPA200/228/EVo Heatsink                                    -   

12a 20900210260 KK200/233/M/K-EVo Heatsink                                    -   

13b 20900210265 KK200/270/M/K-EVo Heatsink                                    -   



"BSV" SALT CHLORINATOR REPLACEMENT PARTS

Parts of Model PRO (PRO 50 - 150) 

PART NO. POOLSPA CODES REFERENCES DESCRIPTIONS RETAIL PRICE 2023

1 20900210345 EVO2-EM-GR Fram

2 20900210275 TECLADO-EVo Keyboard

3 20900210190 CL81Z Cover screws

4 20900210195 EVo 2-TAPA-N Cover

5 20900210280 P906-7 Control board

6 20900210350 P956A + P956B Power board

6a 20900210355 P957A + P957B Power board

7 20900210220 M25JSL-N Compression gland

7a 20900210225 M20JSL-N Compression gland

8 20900210230 JUNTA 01 Waterproof seal

9 20900210235 R13112AAA Switch

9a 20900210240 F0188LOAAA Switch protector

10 20900210245 EVo-BASE-N Evo base box

11 20900210250 BISAGRA-GOMA Hinge strap

12 20900210360 KK200/270/M/PRO1 Heatsink

12a 20900210365 K200B/300B Heatsink

 Please check with 

sale assistant 



"BSV" SALT CHLORINATOR REPLACEMENT PARTS

Parts of Model PRO (PRO 50 – 70/3) 

PART NO. POOLSPA CODES REFERENCES DESCRIPTIONS RETAIL PRICE 2023

1 20900210370 ROSCARP50 RPXX/2 Cell Thread

2 20900210290 TRM8I RP35-50 M8 Nut

3 20900210295 ARM8I RP35-50 M8 Washer

4 20900210300 ARG8I Growe Washer

5 20900210375 ARM8I-P RP35-50 M8 Washer

6 20900210380 TAZRP50-70/3 RP/3 Cell cover

7 20900210385 JTRP Toric Gasket

8 20900210390 GIRP50 RPXX/2 Waterproof Seal

9  - Cell-RP50/3 Cell itself 

10 20900210400 RP10/151,5M-3 RP10/15 160 Cm Wire

11 20900210395 RP-50 Cell Housing 50 - 70 gr

 Please check with 

sale assistant 



"BSV" SALT CHLORINATOR REPLACEMENT PARTS

Parts of Model PRO (PRO 200) 

PART NO. POOLSPA CODES REFERENCES DESCRIPTIONS RETAIL PRICE 2023

1 20900210405 RACK-PRO200G-A Structure Box

2 20900210410 RACK-PRO200G-B Frontal Cover

3 20900210415 RACK-PRO200G-D Upper Cover

4 20900210420 RACK-PRO200G-E Back Cover

5 20900210425 RACK-PRO200G-F Left Side Cover

6 20900210430 RACK-PRO200G-G Right Side Cover

7 20900210435 FONTRAL PRO Control Part

8 20900210440 PCPRO Electrical Part

9 20900210445 FC250G Switch Mode Power Supply

 Please check with 

sale assistant 



"BSV" SALT CHLORINATOR REPLACEMENT PARTS

Parts of Model PRO (RP 100 – RP 250 - CIS) 

PART NO. POOLSPA CODES REFERENCES DESCRIPTIONS RETAIL PRICE 2023

1 20900210450 H.BSV.0028 3” Connection RP100-250

2 20900210455 K.3.OR.00053 116.84X7 mm Gasket

3 20900210460 G.K.T.010 RP100-250 Hose Protection

4 20900210465 H.MAC.0151 Intermediat Connection RP100-250

5 20900210470 TRM12I M12 Stainless Steel NUT

6 20900210475 ARM13I A13 Stainless Steel Washer

7 20900210480 G.O.S.012 External Flanges

8 20900210485 G.K.T.004-RP100 RP100 Hose tube

9 20900210495 G.K.T.004-RP150 RP150 Hose tube

10 20900210490 G.K.T.004-RP200-CIS RP200 Hose tube

11 20900210500 G.K.T.004-RP250-CIS RP250 Hose tube

12 20900210505 H.BSV.0422 RP100 Staple

13 20900210510 H.BSV.0028 RP150 Staple

14 20900210515 H.BSV.0464 RP200 Staple

15 20900210520 H.BSV.0450 RP250 Staple

 Please check with 

sale assistant 



"BSV" SALT CHLORINATOR REPLACEMENT PARTS

Parts of Model PRO (PRO 250 - 1000) 

PART NO. POOLSPA CODES REFERENCES DESCRIPTIONS RETAIL PRICE 2023

1 20900210525 RACK-SCH1000G-A Structure Box

2 20900210530 RACK-SCH1000G-B Frontal Cover

3 20900210535 RACK-SCH1000G-D Upper Cover

4 20900210540 RACK-SCH1000G-E Back Cover

5 20900210545 RACK-SCH1000G-F Left Side Cover

6 20900210550 RACK-SCH1000G-G Right Side Cover

7 20900210555 FRONTAL PRO Control Part

8 20900210440 PCPRO Electrical Part

9 20900210445 FC250G Switch Mode Power Supply

 Please check with 

sale assistant 


